
      
      

  Ableitungsregeln  

      

 
      
      

  Produktregel:  
      

   ( ) ( ) ( )xvxuxf ⋅=  ( ) ( ) ( ) ( ) ( )xvxuxvxuxf ′⋅+⋅′=′⇒   
      

  Quotientenregel:  
      

   ( ) ( )
( )xv
xu

xf =  ( ) ( ) ( ) ( ) ( )
( )xv

xvxuxvxu
xf 2

′⋅−⋅′
=′⇒  

 

      

  Kettenregel:  
      

   ( ) ( )( )xvuxf =  ( ) ( ) ( )( )xvuxvxf ′⋅′=′⇒   
      

 
      
      

  Aufgaben:  
        

   a) ( ) ( ) x1xxf 3 ⋅+=  i) ( ) ( )xsinxf 2=   
        

   b) ( ) ( ) ( )42x13x2xf −⋅+=  j) ( ) ( )2xsinxf =   
        

   c) 
( )
( )x5

x23
)x(f
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−
−

=  k) ( ) ( ) ( )
( )




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==

xcos
xsin

xtanxf   

        

   d) ( ) ( ) 2
3

2x31xf −=  l) ( ) ( )
( )xtan
xsin

xf =   
        

   e) ( ) ( )863 x5xxf −=  m) ( ) ( )
( )xsin
xtan

xf =   
        

   f) ( ) 2xexf =  n) ( ) ( )x21cosxf −=   
        

   g) ( ) 2xexf =  o) ( ) ( )xcosxf −=   
        

   h) ( ) x2xf =  p) ( ) xxxf =   
      

 


